
 

  

MAY 2013 U/ID 31601/UCHA 

Time : Three hours Maximum : 100 marks 

SECTION A — (40 × 1 = 40 marks) 
Answer ALL questions. 

All questions carry equal marks. 

1. Rock is an aggregate of         

 (a) Elements (b) Inorganic natural substances (c) Minerals  

(d) None of the above 

 £õøÓ Gß£x —————ß J¸ Tmk ö£õ¸ÍõS® 

 (A) Buõµ ö£õ¸ÒPÒ (B) EÖ¨¦PÍØÓ C¯ØøP ö£õ¸ÒPÒ  

(C)  uõxUPÒ (D)  ÷©Øö\õßÚ HxÄªÀø» 

2. ————— is the typical example of extrusive igneous rocks 

 (a) Gabbro (b) Plutonic (c) Basalt (d) none of the above 

 ————— Gß£x öÁÎ÷£õ¢u  w¨£õøÓPÐUS ]Ó¢u 

Euõµn©õS® 

 (A)  P¨÷µõ (B) ¦ÐhõÛU (C) £õ\õÀm  (D)  ÷©Øö\õßÚ 

GxÄªÀø» 

3. The rocks which are formed by sand particles is called as  

—————          

 (a) Clay (b) Conglomerate (c) Shale (d) Sandstone 

 ©nÀ xPÒPÍõÀ E¸ÁõUP¨£kQßÓ £õøÓPøÍ ————— 

GßÓøÇUQ÷Óõ® 

 (A) PÎ©s (B) P[P»õ©µm (C) ©õUPÀ (D)  ©nØ£õøÓ 

4. Chemically formed sedimentary rocks are —————  

 (a) Clay (b) Calcareous (c) Carbonaceous (d) Aeolian  

 Cµ\õ¯nz÷uõk E¸ÁõQßÓ £iÄ¨ £õøÓPÒ ————— BS®  

 (A)  PÎ©s (B) _snõ®¦ (C) P›©®  (D)   H¼¯ß 

5. ————— refers to the cutting down of highlands with a view to 

bring it at surface level. 

 (a) Degradation (b) Aggradation (c) Denudation  

 (d) None of the above  
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 ————— Gß£x E¯µ©õÚ {»¨£SvPøÍ \©£µ¨¦ AÍÂØS 

öPõsk Á¸QßÓÚ 

 (A)  A›¨¤ÚõÀ \©¨£kzuÀ (B) £iÄPÍõÀ {µ¨£¨£kuÀ  

(C)  ÷u´ÖuÀ (D)  ÷©Øö\õßÚ HxÄªÀø» 

6. Rock disintegration without any change in chemical constituents 

of rocks, is called as  

 (a) Physical weathering (b) Chemical weathering (c) Biological 

weathering (d) None of the above 

 £õøÓPÒ G¢uÂu Cµõ\õ¯Ú ©õØÓªßÔ Eøh£kuø» ————— 

GßÓøÇUQ÷Óõ® 

 (A)  C¯ØøPa ]øuÄ (B) Cµõ\¯na ]øuÄ (C) E°›Úa ]øuÄ 

(D)  ÷©Øö\õßÚ HxÄªÀø» 

7. Oxidation process is come under ————— 

 (a) Biological weathering (b) Chemical weathering (c) Physical 

weathering (d) None of the above. 

 BUêPµn ö\¯À£õk ————— RÌ Á¸QßÓÚ 

 (A) E°›Úa ]øuÄ (B) Cµõ\¯na ]øuÄ (C) C¯ØøPa ]øuÄ 

(D)  ÷©Øö\õßÚ GxÄªÀø» 

8. Solution is come under —————  

 (a) Physical weathering (b) Biological weathering (c) Chemical 

weathering (d) None of the above 

 PøµuÀ ————— RÌ Á¸QßÓÚ 

 (A) C¯ØøPa ]øuÄ (B) E°›Úa ]øuÄ  (C) Cµõ\¯na ]øuÄ  

(D)  ÷©Øö\õßÚ GxÄªÀø» 

9. River capture is generally observed in which part of the fluvial 

cycle. 

 (a) The upper course (b) The middle course (c) The Lower 

course (d) In all the courses 

 BØÖ}º _ÇØa]°À BØÖ PÁºÄ Gß£x ————— £Sv°À 

ö£õxÁõP Põn¨£kQÓx 

 (A) uø»¨£Sv°À (B) |k¨£Sv°À (C) RÌ¨£Sv°À   

(D)  GÀ»õ £SvPÎ¾® 
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10. S-shaped river course is described as ————— of the river. 

 (a) Ox-bow lake (b) Meanders (c) Levees (d) Alluvial fan 

 BØÖÝøh¯ S ÁiÁ £õP©õÚx ————— GßÖ 
ÂÍUP¨£kQÓx 

 (A) S¸mhõÖ (B) BØÖ ÁøÍÄ (C) ö»Âì (D)  ÁshÀ Â]Ô 

11. The ridge like embankment along the sides of river is called as. 

 (a) Flood plain (b) Meanders (c) Levees (d) Oxbow lake 

 BØÔß £UP[PÎÀ T›¯ •øÚ÷£õßÓ Pøµ GÆÁõÖ 
AøÇUP¨£kQÓx 

 (A) öÁÒÍa \©öÁÎ (B) BØÖ ÁøÍÄ (C) ö»Âì  
(D)  S¸mhõÖ 

12. Corrie is also known as —————  in French 

 (a) Cwm (b) Cirque (c) Arete (d) None of the above     

 öPõ› ¤öµg]À —————  GßÓøÇUQ÷Óõ® 

 (A) Cwm (B) \ºU (C) Böµm (D) ÷©Øö\õßÚ GxÄªÀø»  

13. Deflation process is the erosional work of —————   

 (a) Wind (b) Glacier (c) River (d) None of the above   

 ¦øhöukzuÀ ö\¯À£õhõÚx ————— ß  A›zuÀ 
÷Áø»¯õS® 

 (A) PõØÖ (B) £Û¯õÖ (C) BÖ (D)  ÷©Øö\õßÚ GxÄªÀø» 

14. Aeolian deposit or the plain formed by deposition of wind borne 
material is called as 

 (a)  Barchan (b) Seif sand dune (c) Oasis (d) Loess plain 

 PõØÓõÀ öPõsk Á¢u ö£õ¸mPÍõÀ £i¯ÂzuÀ ö\¯»õÀ 
E¸ÁõQßÓ \©öÁÎ ————— GßÖ AøÇUQ÷Óõ® 

 (A)  £ºPõß (B) \[Q¼ öuõhº ©nÀ÷©k (C) £õø»ÁÚa ÷\õø» 
(D)  ¿°ì \©öÁÎ 

15. The horizontal distance between either two crests or two troughs 
is described as 

 (a) Trough (b) Crest (c) Wavelength (d) None of the above 

 Cµsk ÷©À ÁøÍÄ ‰i AÀ»x Cµsk RÌ ÁøÍÄ uõÈUPÐUS 
Cøh÷¯¯õÚ £køP yµ©õÚx ————— GßÖ ÂÍUP¨£kQÓx 

 (A) RÌ ÁøÍÄ uõÈ  (B) ÷©À ÁøÍÄ ‰i (C) Aø»  }Í®  
(D) ÷©Øö\õßÚ GxÄªÀø»   



 U/ID 31601/UCHA 4

16. Due to prolonged wave action a cylindrical or funnel shaped hole 

is formed at the base of sea cliff along the line of weakness is 

described as 

 (a) Wave cut platform (b) Sea cliff (c) Sea cave (d) Notch 

 Aø»°ß }sh÷|µ ö\¯À£õmiß Põµn©õP E¸øÍ AÀ»x T®¦ 

ÁiÁ xøÍ PhÀ K[PÎß \Uv SøÓ¢u £Sv°À E¸ÁõÁøu  

————— GßÖ ÂÍUP¨£kQÓx 

 (A)  Aø» A›zu»õÚ ÷©øh (B) PhÀ K[PÀ (C) PhÀ SøP  

(D)   öÁmkz uh® 

17. The term —————indicates the capacity of the rock to drain 

the water through it. 

 (a) Permeability (b) Porosity (c) Percolation (d) None of the 

above 

 ————— GßÓ ö\õÀ £õøÓ°Ýhß }º ÁÈu¼ß vÓøÚ 

GkzxUPõmkQÓx 

 (A)  }º ¦Sußø© (B) ¦øµzußø©  (C) PÁÓÀ (D)  ÷©Øö\õßÚ 

GxÄªÀø» 

18. Groundwater frequently comes on the surface through a fissure 

in the bed rock, forming ————— 

 (a) Scarp foot spring (b) Fault spring (c) Dyke spring  

(d) Fissure spring 

 ¤ÍÂß ‰»©õP {»zui }µõÚx £õøÓ°ß Ai¨£Sv°¼¸¢x 

C¯À£õP ÷©À÷|õUQ Á¸ÁuõÀ ————— E¸ÁõQÓx 

 (A)  ìPõº¨ ¦m FØÖ (B) ¤ÍÄ FØÖ (C) øh°U FØÖ  

(D)   Â›\À FØÖ 

19. Limestone plateau of Kentucky of U.S.A. is well known for the 

distribution of  

 (a) Sink hole (b) Lapies (c) Swallow hole (d) Doline 

 Aö©›UPõÄÝøh¯ öPshUQ _snõ®¦  ¥h§ª¯õÚx  

————— £µÁ¾US £›a]¯©õÚx 

 (A) EÔg]z xøÍ (B) ÷»¨¤ì (C) _ÁõÍõ xøÍ (D)   öhõø»ß  
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20. Temperature is measured by an instrument, called as —————          

 (a) Thermometer (b) Barometer (c) Lactometer (d) Hygrometer 

 öÁ¨£{ø»ø¯ AÍÂk® E£PµnzvøÚ ————— 

GßÓøÇUQ÷Óõ®  

 (A) öÁ¨£{ø»©õÛ  (B) £õµ©õÛ (C) £õÀ©õÛ (D)   Dµ©õÛ  

21. ————— believed in fast rate of upliftment in a short period 

 (a) Thornbury (b) Davis (c) Penck (d) Weaver 

 ————— Gß£Áº SøÓ¢u Põ»zvÀ x›u AÍÂÀ E¯ºÁøhQÓx 

Gß£øu |®¤Úõº 

 (A) uõºßö£› (B) ÷hÂì  (C) ö£[P (D) ÃÁº 

22. ————— is the lower most layer of the atmosphere. 

 (a) Troposphere (b) Stratosphere (c) Mesosphere  

(d) Thermosphere 

 ————— Gß£x ÁÎ©sh»zvß RÌ AkUS BS® 

 (A) m÷µõ÷£õì¤¯º (B) ìm÷µõ÷£õì¤¯º (C) ª÷\õì¤¯º  

(D) uº÷©õì¤¯º   

23. Which layer is known as Kenelly Heaviside layer? 

 (a) F layer (b) E2 layer (c) D layer (d) E layer 

 G¢u AkUS öPßÛ÷» öíÂø\k AkUS GßÓøÇUP¨£kQÓx? 

 (A) F AkUS (B) E2 AkUS (C) D AkUS (D) E AkUS 

24. Temperature decreases with the altitude at the rate of  

—————  for 165 meters height. 

 (a) 1°C (b) 3° C    (c) 2° C  (d) 4° C 

 öÁ¨£{ø»¯õÚx ————— GßÓ ÃuzvÀ 165 «mhº E¯µzvÀ 

SøÓQßÓx 

 (A) 1°C (B) 3° C    (C) 2° C  (D) 4° C 

25. Pressure is measured by an instrument, called as 

 (a) Thermometer (b) Barometer (c) Lactometer (d) Hygrometer 

 AÊzuzvøÚ AÍÂk® E£PµzvøÚ ————— 

GßÓøÇUQ÷Óõ® 

 (A) öÁ¨£{ø»©õÛ (B) £õµ©õÛ (C) £õÀ©õÛ (D)  Dµ©õÛ  
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26. Sub-polar low pressure belts lies between ————— north and 

south latitudes in both hemisphere. 

 (a) 45° to 63½° (b) 45° to 64½° (c) 45° to 65½° (d) 45° to 66½°  

 xøn x¸Á SøÓ¢u AÊzu ©sh»©õÚx —————US 

Cøh÷¯ Áh ©ØÖ® öuß Am\÷µøP°À Cµsk ÷PõÍºzuv¾® 

Aø©¢xÒÍx 

 (A) 45° ¼¸¢x 63½° (B)  45° ¼¸¢x 64½° (C) 45° ¼¸¢x 65½° 

(D) 45° ¼¸¢x 66½°  

27. The vertical movement of the air is described as  

 (a) Air current  (b) Humidity (c) Pressure (d) None of the above 

 PõØÔß ö\[Szx Aø\ÁõÚx ————— GßÖ ÂÍUP¨£kQÓx 

 (A) PõØÖ }÷µõmh® (B) Dµ¨£u® (C)  AÊzu® (D) ÷©Øö\õßÚ 

GxÄªÀø» 

28. ————— below from polar high to sub-polar low pressures in 

both hemispheres. 

 (a) Westerlies (b) Planetary winds (c) Polar winds (d) Local 

winds 

 ————— GßÓ PõØÓõÚx x¸Á E¯µzv¼¸¢x  xøn x¸Á 

SøÓ¢uÊzu® Áøµ Cµsk  ÷PõÍõºzu¼¾® Ã_QßÓx. 

 (A) ÷©ø»UPõØÖPÒ (B) ÷PõÒ PõØÖPÒ (C)  x¸Á PõØÖPÒ  

(D)  u»UPõØÖPÒ. 

29. A huge body of air with homogeneous physical properties like 

temperature and humidity is described as ————— 

 (a) Air mass (b) Front  (c) Wind (d) Air current. 

 AvP vÓÝøh¯ Jzu ußø©²øh¯ C¯ØøP Snõv\¯[PÍõÚ 

öÁ¨£{ø» ©ØÖ® Dµ¨£u®  Áõ´¢u PõØÓõÚx ————— GßÖ 

ÂÍUP¨£kQÓx  

 (A) PõØÖ SÂ¯À (B) ÁÎ•P® (C) PõØÖ (D) PõØÖ  }÷µõmh® 

30. ————— is  defined as one which has lower temperature than 

the underlying surface. 

 (a) Warm air mass (b) Humidity air mass (c) Cold air mass  

(d) Polar air mass 
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 ————— Gß£x C¯ØøP £µ¨ø£ Âh SøÓ¢u öÁ¨£{ø»ø¯ 
öPõsi¸US® 

 (A) öÁ¨£ PõØÖ SÂ¯À (B) Dµ¨£u PõØÖ SÂ¯À (C) SÎº 

PõØÖ SÂ¯À (D) x¸Á PõØÖ SÂ¯À 

31. The cyclone, which occurs in mid latitude zones, between 30° to 

70° latitudes in both hemisphere is called as 

 (a) Extra tropical cyclone (b) Extra tropical anti-cyclone  

(c) Extra tropical depression (d) Extra tropical lee depression 

 ø©¯ Am\÷µøP ©sh»zvÀ 30° to 70° Am\÷µøPUPÐUQøh°À  

Cµsk ÷PõÍºzu¼¾®  Aø©QßÓ `ÓõÁÎøÚ ————— 

GßÓøÇUP¨£kQÓx 

 (A) AvP öÁ¨£ `ÓõÁÎ (B) AvP öÁ¨£ Gvº `ÓõÁÎ  

(C) AvP öÁ¨£ uõÌÄ (D) AvP öÁ¨£ ½ uõÌÄ 

32. Warm humid mid latitude or temperate climate is 

 (a) Climate - A  (b) Climate - B (c) Climate - C (d) Climate - D 

 öÁ¨£ Dµ¨£u |kAm\ AÀ»x öÁ¨£ Põ»{ø»  ————— BS® 

 (A) Põ»{ø»- ---– -A  (B) Põ»{ø» – B (C) Põ»{ø» – C  

(D) Põ»{ø» – D 

33. ————— represents the shallow part of the oceans and seas. 

 (a) Continental shelf (b) Continental slope (c) Deep sea plain 

(d) Ocean deep 

 ÷£µõÈPÒ ©ØÖ® PhÀPÐøh¯  SøÓ¢u BÇ¨ £Sv°øÚ 

GkzxUPõmkÁx ————— BS®  

 (A) Pshz vmk (B) Psha \›Ä (C) BÌ PhÀ \©öÁÎ  

(D) ÷£µõÈ BÇ®  

34. Deep sea plain is also known as 

 (a) Continental shelf (b) Continental slope (c) Abyssal plain  

(d) Ocean deep 

 BÌPhÀ \©öÁÎ ————— GßÖ® AøÇUP¨£kQÓx 

 (A) Pshz vmk (B) Psha \›Ä  (C) B¨ø\À \©öÁÎ  

(D) ÷£µõÈ BÇ® 
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35. Some isolated hills of various origin like volcanic cone and coral 

reef are also scattered on the bottom of the oceans and seas, 

these are knows as  

 (a) Submarine canyons (b) Abyssal hills (c) Submarine ridges 

(d) Guyot   

 ÷£µõÈPÒ ©ØÖ® PhÀPÐUS Ai°À £»ÁøP¨£mh 
÷uõØÓ[PÐøh¯ G›©ø» T®¦ ©ØÖ® £ÁÍ¨£õøÓ  ÷£õÀ ]» 
uÛzuÛ¯õÚ ©ø»PÒ £µÂ Põn¨£kQßÓÚ. AÁØÔøÚ  
————— GßÓøÇUQ÷Óõ®. 

 (A) Ph»i SøhÄ £ÒÍzuõUS (B) ÷£µõÌ ©ø»PÒ  (C) Ph»i 
©ø»zöuõhº (D) ©mh SßÖ 

36. Highest salinity is found along the western side of the  

————— in both hemisphere.  

 (a) Sub-tropical ocean (b) Sub-polar ocean (c) Tropical ocean 

(d) Polar ocean. 

 AvP EÁº¨¤¯©õÚx ————— ÷©ØS £Sv°ß Cµsk 
÷PõÍõºzuu¼¾® Põn¨£kQÓx 

 (A) xøn öÁ¨£ ÷£µõÈ (B) xøn x¸Á ÷£µõÈ (C) öÁ¨£ 
÷£µõÈ (D) x¸Á ÷£µõÈ  

37. Vertical rise and fall of water after a fixed interval everyday 

under the attraction of the sun and moon is called as —————. 

 (a) Wave (b) Tide (c) Current (d) None of the above 

 `›¯ß  ©ØÖ® {»Âß \¢v¨¤ß Põµn©õP J¸ SÔ¨¤mh 
CøhöÁÎ°À usp›À HØ£kQßÓ ö\[Szx GÊa]²® ©ØÖ® 
ÃÌa]²® ————— GßÓøÇUQ÷Óõ®  

 (A) Aø» (B) Ku® (C) }÷µõmh® (D) ÷©Øö\õßÚ GxÄªÀø» 

38. Which current moves from polar to equatorial regions? 

 (a) Cold current (b) Warm current (c) Dry current (d) None of 

the above 

 G¢u }÷µõmh® x¸Á £Sv°¼¸¢x   §©zv¯÷µøP ÁmhõµzvøÚ 
÷|õUQ ö\À¾QÓx? 

 (A) SÎº }÷µõmh® (B) öÁ¨£ }÷µõmh®  (C) ÁÓsh }÷µõmh® 
(D) ÷©Øö\õßÚ GxÄªÀø»  

39. Which one is the cold current of the Pacific Ocean? 

 (a) Oyashio current (b) Kuroshio current (c) North pacific drift 

(d) South Equatorial current 
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 G¢u SÎº }÷µõmh® £]¤U ÷£µõÈ²Ýøh¯x? 

 (A) K¯õ]÷¯õ }÷µõmh® (B) S÷µõ]¯ }÷µõmh® (C) Áh £]¤U 
i›¨m (D) öuß §©zv¯ ÷µøP }÷µõmh® 

40. On the basis of location and structure of reefs they may be 

divided into 

 (a) Two categories (b) Three categories (c) Four categories  

(d) Five categories 

 Aø©Âh® ©ØÖ® Aø©¨¤øÚ Ai¨£øh¯õP öPõsk •¸øP 
£õºPøÍ ————— ¤›UP»õ® 

 (A) Cµsk ÁøPPÒ (B)  ‰ßÖ ÁøPPÒ (C) |õßS ÁøPPÒ  
(D) I¢x ÁøPPÒ 

SECTION B — (5 × 4 = 20 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

41. Examine about the process of formation of sedimentary rock. 

 £iÄ¨£õøÓ E¸ÁõS® ö\¯À£õmiøÚ¨ £ØÔ Bµõ´P. 

42. Write a short note on river capture. 

 BØÖ PÁºÄ SÔzx _¸UP©õP GÊxP. 

43. Describe briefly about the formation of yardang. 

 ¯õºhõ[ E¸Áõuø»¨ £ØÔ _¸UP©õP ÂÍUSP. 

44. Bring out the characteristics of sink hole. 

 EÔg_ xøÍ°ß ußø©PøÍ öÁÎUöPõnºP 

45. Give account on the hydrological cycle. 

 }›°¯À _ÇØa]°øÚ SÔzx _¸UP©õP u¸P. 

46. Elucidate about the characteristics of cold front. 

 SÎº ÁÎ•Pzvß ußø©PøÍ öuÎÁõUSP. 

47. Critically examine  about the equatorial low pressure belt. 

 §©zv¯÷µøP SøÓ¢uÊzu ©sh»zøu Tº¢x Bµõ´P. 

48. List out the characteristics of air masses. 

 ÁÎ¨£SvPÎß ußø©PøÍ £mi¯¼kP. 



 U/ID 31601/UCHA 10 

SECTION C — (2 × 20 = 40 marks) 

Answer any TWO questions. 

All questions carry equal marks. 

49. Explain about the distribution of insolation. 

 öÁ°º Põ´Âß £µÁø»¨ £ØÔ ÂÁ›. 

50. Discuss about the structure of the atmosphere. 

 ÁÎ©sh» Aø©¨¦ – £ØÔ ÂÁõv. 

51. Give a detailed account on effects of ocean currents. 

 ÷£µõÈ  }÷µõmh[PÎß ÂøÍÄPøÍ SÔzx Â›ÁõP u¸P. 

——————— 


